ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

, Del Cielo Media	_, hereby request station time as fo	ollows: See Order for proposed
schedule and charges. See Invo	i ce for actual schedule and charges	5.
Check one:		
(1) a legally qualified candidate	relating to any political matter of national for federal office; (2) an election to federa health care legislation, IRS tax code, etc.); of ssion at the national level.	al office; (3) a national legislative
Ad does NOT communicate a only to a state or local issue).	message relating to any political matter o	f national importance (e.g., relates
ALL QUE	STIONS/BLOCKS MUST BE CO	MPLETED
Station time requested by:		
Agency name: Del Cielo Media LLC		
Address: PO Box 26067, Alexandria VA 223	313	
Contact:	Phone number: 703-409-7269	Email:
Name of advertiser/sponsor (list entity's committees] with no acronyms; name m		eral Election Commission [for federal
Name: Electronic Payments Coalition		
Address: 1747 Pennsylvania Ave NW #1000), Washington, DC 20006	
Contact:	Phone number:	Email: info@electronicpaymentscoalition
Station is authorized to announce the ti	me as paid for by such person or entity.	
group(s) of the advertiser/sponsor (Use s Jeffrey Tassey, Chairman of the Board, Rich By signing below, advertiser/sponsor repr	separate page if necessary.): ard Hunt, Executive Director esents that those listed above are the only	or board of directors or other governing y executive officers, members of the
executive committee and board of directors If ad refers to a federal candidate(s) or f		ı: √ N/A
Name(s) of every candidate referred to:		
Office(s) sought by such candidate(s) (no	o acronyms or abbreviations):	
Date of election:		
Clearly identify EVERY political matter of ad (no acronyms); use separate page if a Credit cards		e N/A

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING. The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement. Advertiser/Sponsor Station Representative Digitally signed by Del Cielo Media Date: 2023.08.15 14:39:48 -04'00' Signature: Del Cielo Media Signature: Name: Del Cielo Media Name: Date of Request to Purchase Ad Time: Date of Station Agreement to Sell Time: TO BE COMPLETED BY STATION ONLY Ad submitted to station? No Date ad received: Note: Must have separate PB-19 forms (or the equivalent, e.g., addendums) for each version of the ad (i.e., for every ad with differing copy). If only one officer, executive committee member or director is listed above, station should ask the advertiser/sponsor in writing if there are any other officers, executive committee members or directors, maintain records of inquiry and update this form if additional officers, members or directors are provided. Disposition: Accepted Accepted IN PART (e.g., ad not received to determine content)* Rejected - provide reason (optional): *Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any: KAOX Kupy Date Received/Requested: Contract #: Station Call Letters: Station Location: Lako Fal Est. #: Various For national issue ads only (not required for state/local issue ads): Upload order, this disclosure form and invoice (or traffic system print-out) or other material reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased (including date, time, class of time and reasons for any make-goods or rebates) or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a

contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder

in the OPIF.

		on: KAOX-FM ract Name: Electronic Pay 419425 KAOX										Agend	су:	K	atz I	Media	Group		
Cor	ntract Na	me: Ele	ctror	nic Pay 4	119425 K	(AOX						Addre	SS	:1	25 V	Vest 5	5th Stre	et 3rd Floor	
																		State: NYZip:	
Sta	t Date:	4/19/2	24		End Date	e:			4/2	5/2									en er
					nt Co (C)														(None)
														Commis			EO		
					State:														
																			nm %: 0
		ne: EPC																	nm %: 15
Esti	mate #:	41942	_														ontract		1111 70
		Code: P		ol.								manog	,00	or one	y		Ontract	Dates	
No	DA	TES	Alt	TIN	ИES	Ī				DI	STF	RIBUTIO	N				T	OTALS	
	START	END	wks	START	END	LEN	М	Т	W	Т	F			Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1 2	4/19/24	4/19/24		3:00 PM	7:00 PM	30			-		1			1	D	25.00	1	25.00	1
3	4/22/24	4/25/24		6:00 AM 3:00 PM	10:00 AM 7:00 PM	30	1	1	1	1			-	3	D	25.00	3	75.00	1
Dillia	- Dit	D . I														23.00	3	75.00	1
DIIIII	ig Project	ions: By N		Apr 24															
		CA		75.00															
		ST	1	75.00															
	Print Sp	ot Prices	3									Т	0	TAL SP	OTS				7
														JUSTE)TC			7
												A	D	JUSTE	тот	TAI ¢			175.00
												Д	PF	PROVE	DE	CLINE			
													\supset				Traffic		
													\supset				Sales Ma	ınager	
													\supset				Credit	J	
												(1				1/1/1/iolm	, 04/10/24 @:	2.20014

Sta	Station: KAOX-FM Contract Name: ElectronIC Pay 412418 KAOX											Ag	ency:	: K	(atz I	Media	Group		
Co	ntract Na	me: Ele	ctro	nIC Pay	412418	KAO	Χ											et 3rd Floo	r
				**********														tate: NYZip	
Sta																		tato. 111 Zip	10018
				Agency									yer:						
				Paymer															(None)
																%: 13.	50		
												Billi	ing C	ycle: S	tand	ard			
												Sal	espe	rson: 1	414k	wal			nm %: 0
	duct Nan																		nm %: 15
Esti	mate #:	41214															ontract [
Con	npetitive	Code: P	olitic															T.T.Y.T.	
No	DA	TES	Alt	TIN	MES	LEN				D	ISTR	RIBU	TION				Т	OTALS	
	START	END	wks		END		M	Т	W	Т	F	SA	A SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
2	4/12/24	4/12/24		3:00 PM 6:00 AM	7:00 PM 10:00 AM	30			-	 	1		_	1	D	25.00	1	25.00	1
3	4/15/24	4/18/24		3:00 PM	7:00 PM	30	1	1	1	1		-	-	2	D	25.00	2	50.00	1
,	ng Projecti	CA ST	1	Apr 24 25.00 25.00															
V	Print Sp	ot Prices											TO	TAL SP	OTS				5
													GR	OSS TO	JATC	•			
													AD.	JUSTEI	D SPC				
														JUSTE		EAL 6			10= 00
													APF	PROVE	DE	CLINE			
																	Traffic		
																,	Sales Ma	nager	
																(Credit		
													V				1414jelm,	04/10/24 @	2:29PM

Sta	ation:	KAOX	(-FN	1								Age	ency:	k	(atz N	/ledia	Group			
Со	ntract Na	me: Elec	ctror	nic Paym	ent Co 4	054	11					Add	dress					eet 3rd l	Floor	
	ntract#:																	State: N		10019
Sta	rt Date:				End Date														· . –	10010
Adv	vertiser:	Electr	onic	Paymer	nt Co (C)							Tax	Sch	edule:						(None)
														Commi			50			
					State:									ycle: S		ard				
	duct Nan																	Dates		15 %:
Esti	mate #:	40541										iviar	kegot	ou r one	y. v v i		Unitract	Dates		
	npetitive							••••												
No	START	TES END	Alt	START	MES END	LEN	M	Т		D V T	ISTR F		TION	Desim	Davi	RATE		TOTALS		PTY
1	4/05/24	4/05/24		3:00 PM	7:00 PM	30	IVI			V	1	SF	A SU	Per Wk	D/W D	25.00	SPOTS 1	25.0		
2	4/08/24	4/11/24		6:00 AM	10:00 AM	30	1	1	1	1	Ť			3	D	25.00	3	75.0		1
3	4/08/24	4/11/24		3:00 PM	7:00 PM	30		1	1	1 1				3	D	25.00	3	75.0	00	1
Billin	ng Project Print Sp	CA ST	1	Apr 24 75.00 75.00									TO	TAL SF	OTO:					7
														OSS TO						
														JUSTE						7
								,					AD	JUSTE	וטוט	AL \$				175.00
													APF	PROVE	DEC	CLINE				
															\bigcirc		Traffic			
															\bigcirc		Sales M	anager		
													\bigcirc				Credit			
													\checkmark				1414jeln	n, 04/02/	24 @12	:40PM

Station: KAOX-FM Agency: Katz Media Group	
Contract Name: Electronic Payment Co 323331 Address: 125 West 55th Street 3rd Floor	
Contract#: 43625 City: New York State: NYZip:	10019
Start Date: 3/25/24	
Revenue Type: National Agency Type: Cash Buyer:	
Advertiser: Electronic Payment Co (C) Tax Schedule:	(None)
Address: Agency Commission %: 13.50	
City: State: 7in: Billing Cycle: Standard	
Phone: () - Salesperson: 1414kwal Comm %	
Product Name: EPC Salesperson: 1414KKATZ Comm %	
Estimate #: 323331 Makegood Policy: Within Contract Dates)
Compositive Code: Political	
Competitive Code. Folitical	
NO DATES Alt TIMES LEN DISTRIBUTION TOTALS	
START END Wks START END LLIN M T W T F SA SU Per Wk D/W RATE SPOTS \$\$	PTY
1 3/25/24 3/29/24 6:00 AM 10:00 AM 30 1 1 1 1 5 D 25.00 5 125.00 2 3/25/24 3/29/24 3:00 PM 7:00 PM 30 1 1 1 1 1 5 D 25.00 5 125.00	1
2 2 20.00	1
Billing Projections: By Month Mar 24	
CA 250.00	
ST 250.00	
✓ Print Spot Prices TOTAL SPOTS TOTAL	10
GROSS TOTAL \$	250.00
ADJUSTED SPOTS	10
ADJUSTED TOTAL \$	250.00
APPROVE DECLINE	
Traffic	
Sales Manager	
1414jelm, 03/07/24 @4:01l	

Sta	Station: KAOX-FM Contract Name: Electronic Payment Co 316322											А	gency	: K	(atz N	Media (Group		
Cor	tract Na	me: Elec	ctror	nic Paym	ent Co 3	1632	22					Α	ddres					et 3rd Floor	
												С	ity:					tate: NYZip:	
					End Date							P	hone:						
					nt Co (C)							Ta	ax Sch	nedule:					(None)
														Commis			50		
					State:									ycle: S		- v.d			
																			m %: 0
		ne: EPC																	m %: 15
Esti	mate #:	31632															ontract I		
Con	petitive	Code: Po	olitic	201									anogo	00 1 0110	y		ontract	Dates	
No	DA	ΓES	Alt	TIN	MES	LEN				[DIST	RIB	BUTION				Т	OTALS	
1	START	END	wks	START	END	LEN	M	T	W		-		SA SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
2	3/18/24	3/22/24		6:00 AM 3:00 PM	10:00 AM 7:00 PM	30	1	1	1	-	-	-		5	D	25.00	5	125.00	1
D:II:					L											23.00	3	125.00	1
Billin	g Project	ons: By M		Mar 24															
		CA		250.00															
_/		ST		250.00															
V	Print Sp	ot Prices											TC	TAL SP	OTS		*********		10
														JUSTE		TC			10
													AD	JUSTE	TOT	TAL\$	22200 0000		250.00
													AP	PROVE	DE	CLINE			
																	Traffic		
																	Sales Ma	nager	
)			Credit	3	
													V	5				03/07/24 @4	:01PM

Sta	Station: KAOX-FM Contract Name: Electronic Payment Co 308315											P	Agency	:	(atz i	Vledia	Group		
Со	ntract Na	me: Elec	ctror	nic Paym	nent Co 3	8083	15					A	Address					et 3rd Floo	r
																			: 10019
Sta	rt Date:	3/08/2	24		End Date	9:			3/	15/2	24	F	Phone:		۱۱	_		otate. IVI Zip	
Re	venue Ty	pe: Natio	onal	Agency			Т	vne	٠	Cas									
					nt Co (C)														
																			(None)
					·····									Commi			50		
					State:	Zip:						В	Billing C	ycle: S	Stand	ard			
Pho	one:	()	-									S	Salespe	rson: 1	414k	wal		Co	mm %: 0
Pro	duct Nan	ne: EPC																	mm %: 15
Esti	imate #:	30831	5														ontract		***********
Cor	npetitive	Code: Po	olitic															T. T. J. T. T	****************
	DA	TES	Alt	TIA	MES		1				NOT.						T		
No	START	END	wks	START	END	LEN	M	Т	V	V T		-	BUTION SA SU	Per Wk	D/W	RATE	SPOTS	OTALS	PTY
1	3/08/24	3/08/24		3:00 PM	7:00 PM	30		Ī	T	T	1	-	7	1	D	25.00	1	\$\$ 25.00	1
2	3/11/24	3/15/24		6:00 AM	10:00 AM	30	1		1		1			3	D	25.00	3	75.00	1
3	3/13/24	3/15/24		3:00 PM	7:00 PM	30			1	1	1			3	D	25.00	3	75.00	1
	ng Project	CA ST	N 1	Mar 24 75.00 75.00															
V	Print Sp	ot Prices											ТО	TAL SF	POTS				7
													GR	OSS T	OTAL	\$			175.00
													AD	JUSTE	D SP	DTS			7
													AD	JUSTE	D TO	TAL \$			175.00
													AP	PROVE	DE	CLINE			
													V	(02.1142	1/11/200	02/07/24/	2.00DM
)				n, 03/07/24 (23.00FW
)			Sales Ma	mayer	
														,	\bigcirc		Local Sa	les Manager	

Station: KAOX-FM Contract Name: Elect Payment 208214												Age	ency:	ŀ	<atz i<="" th=""><th>Media</th><th>Group</th><th></th><th></th><th></th></atz>	Media	Group			
Co	ntract Na	me: Ele	ct P	ayment 2														et 3rd Fl		
	ntract#:																		Zip:	10019
Sta	rt Date:				End Date													plate. IN I	∠ιμ	10018
Adv	ertiser:	Electr	onic	Paymer	nt Co (C)			71-0				Tay	Sch	edule:						/NI=)
														Commi						
City	/:				State:	7in:													*********	
												BIIIII	ig C	ycle: S	tand	ard				
		(<i>)</i> ne: EPC																	Comm %:	
																			Comm %:	15
		20821										Mak	egod	od Polic	cy: W	ithin C	ontract	Dates		
Con	npetitive	Code: Is	sue	s/Progra	ms															
No		TES	Alt	TIN	MES	LEN				DI	ISTR	IBUT	ION				7	OTALS		
	START	END	wks	START	END	LEN	M	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	F	YTY
2	2/08/24	2/09/24	-	6:00 AM	10:00 AM	30				1				1	D	25.00	1	25.00		1
3	2/12/24	2/14/24	-	3:00 PM 6:00 AM	7:00 PM 10:00 AM	30	1		1	1	1			2	D	25.00	2	50.00		1
4	2/12/24	2/14/24		3:00 PM	7:00 PM	30		1	1					2	D	25.00	2	50.00		1
D:II:	- D - ' - 1																	00.00		1
Billir	ng Project	ons: By M		ob 24																
		CA		75.00																
		ST		75.00																
$ \sqrt{} $	Print Sp	ot Prices											TO	TAL SP	OTS					7
				• • • • • • • • • • • • • • • • • • • •									GR	OSS TO	OTAL	•				
													AD.	JUSTEI	D SPO					
																				175.00
													, ,,,,,	700121	5 101	/ ι				175.00
													APF	PROVE	DE	CLINE				
																	Traffic			
																	Sales Ma	nager		
																	Credit			
													V					, 01/30/24	@9:49AM	

Sta	ition:	KAO	(-FN	1					Ager	тсу:	:	Katz I	Media	Group							
Cor	ntract Na	me: Ele	ctPa	yments	Co 2222	29						Addr	ess				5th Stre	eet 3rd	Floor	***************************************	
																				1001	10
Sta					End Date														1 Zip.	1001	
												Buye	-								
					nt Co (C)															/NI	
					State:											%: 13.	50				
														ycle: S							
																				n %:	
	duct Nan																			n %: 1	5
	mate #:										. 1	Make	god	od Polid	cy: W	ithin C	ontract	Dates			
Con	npetitive	Code: P	olitic	al																	
No		ΓES	Alt	TIN	MES	LEN				DI	STR	IBUTI	ON				1	TOTALS			7
1	START	END	wks	START	END		M	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS		\$	PTY	
2	2/22/24	2/23/24		6:00 AM 3:00 PM	10:00 AM	30				1				1	D	25.00	1	25.	00	1	
3	2/26/24	2/29/24		6:00 AM	7:00 PM 10:00 AM	30	1		1	1	1			2	D	25.00	2	50.		1	
4	2/26/24	2/29/24		3:00 PM	7:00 PM	30		1	1	1				3	D	25.00	3	75. 75.		1	-
																20.00	1 3	13.	00	1	
Billir	ng Projecti	ons: By N	lonth																		
			F	eb 24	Mar 24																
		CA		25.00	0.00																
1		ST		75.00	150.00																
V	Print Sp	ot Prices											TO	TAL SF	POTS						9
													GR	OSS T	OTAL	\$				225.00)
													AD.	JUSTE	D SPO						9
													AD.	JUSTE	D TOI	TAL\$				225.00	-
												,	APF	PROVE	DE	CLINE					
												(Traffic				
												(Sales Ma	anager			
												(Credit				
												(V		\bigcirc		1414jelm	n. 01/22/	/24 @2:	47PM	

Sta	ation: KAOX-FM ontract Name: ElectPayments Co 215221											Age	ncy:	K	atz N	/ledia	Group		
Cor	ntract Na	me: Elec	tPa	yments	Co 21522	21						Add	ress	: 12	25 W	est 5	5th Stree	et 3rd Floo	
												Citv	:	N	ew Y	ork	S	tate: NY7ii	p: 10019
					End Date													(310. [11. 2]	P
					nt Co (C)														(None)
																			(110110)
					State:									ycle: St					
																			omm %: 0
		ne: EPC																	omm %: 15
Esti	mate #:	21522	1								. 1	Mak	egod	d Policy	y: Wi	thin C	ontract	Dates	
Con	npetitive	Code: Po	olitic	al															
No	DA	TES	Alt	TIM	ИES	LEN				DI	STR	IBUT	TION				Т	OTALS	
	START	END	wks	START	END	LEN	M	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	2/15/24	2/16/24	-	6:00 AM	10:00 AM	30				1				1	D	25.00	1	25.00	1
2	2/15/24	2/16/24		3:00 PM	7:00 PM	30				1	1	-		2	D	25.00	2	50.00	1
3	2/19/24	2/21/24	-	6:00 AM 3:00 PM	10:00 AM	30	1	1	1	-		-		2	D	25.00	2	50.00	1
4	2/15/24	2/2//24		3.00 PIVI	7:00 PM	30		1	1					2	D	25.00	2	50.00	1
		CA ST	F 1	Feb 24 75.00 75.00															
V	Print Sp	ot Prices	;										10	TAL SP	OTS _.				7
													GR	OSS TO	DTAL	\$			175.00
		*******											AD.	JUSTE	SP(DTS			7
													AD.	JUSTE	TOT				175.00
													ΔPI	PROVE	DE	OLINE.			
				***********										NOVE		JEINE	Traffic		
																	Sales Ma	nager	
		* * * * * * * * * * *															Credit	mayer	
													1						
													V				1414ielm	. 01/22/24 ((a) 2:47 PM

		KAO						Agend	cy:	K	(atz N	/ledia	Group						
Cor	ntract Na	me: Ele	ctPa	yments	Co 20120	07						Addre	SS	: 1	25 V	lest 5	5th Stree	et 3rd Floo	r
																		tate: NYZip	
					End Date														
												Buyer							
					nt Co (C)							Tax S	che						(None)
					State:														
																			mm %: 0
	duct Nan																		mm %: 15
Esti	mate #:	20120															ontract [1000
No	DA	TES	Alt	TIM	ИES	LEN				DI	STR	IBUTIC	N				Т	OTALS	
	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA S		Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	2/01/24	2/02/24		6:00 AM	10:00 AM	30				1				1	D	25.00	1	25.00	1
2	2/01/24	2/02/24	-	3:00 PM	7:00 PM	30				1	1			2	D	25.00	2	50.00	1
3	2/05/24	2/07/24	-	6:00 AM	10:00 AM	30	1		1	ļ				2	D	25.00	2	50.00	1
4	2/03/24	2/01/24		3:00 PM	7:00 PM	30		1	1					2	D	25.00	2	50.00	1
Billir	ng Project	ions: By N		eb 24															
		CA		75.00															
,		ST	1	75.00															
V	Print Sp	ot Prices	3									٦	0	TAL SF	OTS				7
													3R	OSS T	OTAL	•			475.00
												F	۱D.	JUSTE	D SPO	270			_
												P	۱D.	JUSTE	D TO				175.00
												A	PF	PROVE	DE	CLINE			
																	Traffic		
				• • • • • • • • • • • • • • • • • • • •									$\frac{1}{2}$				Sales Ma	nager	
										neg y					\bigcirc		Credit		
													V				1414jelm,	01/22/24 @	2:47PM